Kontrola výsledků:

list 1: 923, 814, 1 337, 1 006, 902, 2 086, 659, 2 041, 732
Rozdíl činí 1 427.

list 2: 976, 679, 467, 1 701, 718, 2 131, 949, 2 809, 409
Rozdíl činí 1 543.

list 3: 1 396, 156, 416, 1 699, 385, 658, 848, 687, 979
Rozdíl činí 2 400.

list 4: 1 055, 950, 891, 1 811, 1 504, 1 043, 989, 1 020, 837
Rozdíl činí 974.

list 5: 1 139, 452, 841, 2 836, 538, 1 065, 3 796, 624, 526
Rozdíl činí 3 344.

list 6: 930, 281, 694, 1 274, 192, 752, 659, 883, 1 142
[bookmark: _GoBack]Rozdíl činí 1 082
